EEINIATRER [KERKX]

E LER xE FHR | X8R | RER | W5
1) (%) SEEEX(R KB HEER 267 421 688
2B EEE () TKIE HE R 260 378 638
3| (¥) WZzREE IKEHEER 244 335 579
4 (%) HIHE KB HEER 248 303 551
5 (#) fEILAEZE IKEHEER 225 305 530
6| (Bf) =XREXE KB HEER 256 274 530
1 () E=EKERE IKEHEER 253 272 525
8 FHEE (%) KB HEER 256 259 515
9 (&) SNEEZEwmHET IKEHEER 265 248 513
10 (#) PEEEKE KB HEER 233 265 498
1] (¥) KRGS IKEHEER 243 247 490
12| (#%) /PMEES KB HEER 264 222 486
13 BHIKE (#) IKEHEER 232 245 4717
14| (%) F#B48 KB HEER 246 230 476
15 EfEE (B JKE e ER 260 200 460
16 (#) #E+1#8 KB HEER 300 160 460
17 B’ () JKE e ER 230 220 450
18| (%) HE#H KB HEER 241 204 445
19 (%) IRIEH JKE e ER 248 179 4217
20 hEFEE (B KB HEER 241 182 423
21| (%) ERER JKE e ER 258 158 416
22 WHEEEH (%) KB HEER 231 159 390
23| (F) KEER JKE e ER 250 138 388
24| (%) BXRMBTEMHN JNIAXZE KB HEER 2417 138 385
25 (R/) MR TKIE HE R 241 1317 384
26) () RE&IAR JKEHE R 218 149 367
27| (F) F—KiE TKIE HE R 244 122 366
28| (%) FAEAXEWMES KB HEER 251 100 351
29 (%) =184 TKIE HE R 234 110 344
30| (¥) JIALBIT JIREER KB HEER 251 90 341
31 KmgEes (%) TKIE HE R 240 99 339
32) (%) EREER IKBHEER 235 92 327
I WAEE (B) TKIE HE R 218 108 326
34 (%) #&/O#A KB HEER 244 82 326
35 WEER (K) IKEHE R 240 82 322
36 (%) XKEE# KB HEER 235 84 319
STNEESRTE (K) KB i B 242 76 318
38 (%) HEK4 KB HEER 234 80 314
39| REBKE (¥) KB i B 215 93 308
40| (¥) ES=x KB HEER 197 110 307
HNKESRTL (R) KB HE % 198 109 307
42 PR (BF) KB HEER 236 70 306
43 (F) \EER KB i B 202 102 304
44| (#) EHEEHK KB HEER 242 50 292
45| (¥) EEid KB i B 231 60 291
46 2ILT % () KB HEER 181 106 287
47| () HERX TKIE HE R 231 48 279
48| (\) kHEEHK KB HEER 220 54 274
49| BTRIL AR (¥F) TKIE HE R 210 60 270




E LER xE EHR | IWR | BAER | #E
50| (#) FH LK IKIE MR 195 A 266
51| (/) BHE#M IKiE BB 211 48 265
52| NFEEE () IKIE MR 190 70 260
53| (H) ®IXm TKIE HE R 198 55 253
54| (/) #EkKEKIR TKE B 184 65 249
55| () REAES KB 204 44 248
56| (A7) HFBEX TKE B 216 26 242
57 (%) HBEEsR KB HEER 204 34 238
58| (#) REEX TKE B 199 36 235
59 (F) =XRHTHRE KB HEER 165 66 231
60 =REHZ (%) TKE B 200 24 224
61 (&) hiEH KB HEER 185 20 205
62 EAEHE (%) TKE B 174 24 198
63 (F/) JsmzEEss KB HEER 162 30 192
64 () L% TKE B 175 13 188
65 (#) JELIEZE KB HEER 164 12 176
66| (B) MEREZE 7K E i % 160 14 174
67| (%) ERS KB HEER 135 8 143 #EHA




